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  410HJJB 

  I, 2013 
SUMMATIVE ASSESSMENT – I, 2013 

 / MATHEMATICS    
IX / Class – IX  

 

3                                           90 

Time Allowed : 3 hours                                          Maximum Marks : 90 

  

General Instructions: 
 

  

All questions are compulsory. 
 

 

31 4 

1 6 2 10 3 

11 4 

The question paper consists of 31 questions divided into four sections A, B, C and D. Section-
A comprises of 4 questions of 1 mark each; Section-B comprises of 6 questions of 2 marks each; 
Section-C comprises of 10 questions of 3 marks each and Section-D comprises of 11 questions 
of 4 marks each. 
 

 

There is no overall choice in this question paper 
 

 

Use of calculator is not permitted. 
 

 

   SECTION – A  

 

 

  1 4 1   

Question numbers 1 to 4 carry 1 mark each. 
 

 

 1 (14641)0.25  1 
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Find the value of (14641)0.25 

 

 2 (9)3
(3)3

(6)3  

Evaluate the value of (9)3
(3)3

(6)3. 
 

1 

 3 p  

 
In the given figurefind the value of p. 

 
 

1 

 4 x > 0 y < 0 (x, y) __________  

If x>0 and y<0, then the point (x, y) lies in __________ quadrant. 

 

1 

   / SECTION – B   

 

 

  5 10 2   

Question numbers 5 to 10 carry 2 marks each. 
 

 

 5 

 z  0.064, 

1

31

z

 
 
 

 

If z  0.064, then find the value of

1

31

z

 
 
 

. 

 

2 

 6 10497  

Evaluate the product without multiplying directly : 10497 

 

2 

 7  

(i) R  S  T R  S 

 

(ii) 

2 
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 (a)  

 (b)  

Consider two postulates given below : 
(i) Given any two distinct points R and S, there exists a third point T which is in between 

R and S. 
(ii) There exist at least three points which are not in the same straight line and answer the 

following questions : 
 (a) Do these postulates contain any undefined terms ? 
 (b) Do they follow from Euclid’s postulates ?  Explain. 
 

 8  

 
 
 
In given figure, which pair of lines are parallel ?  Give reasons. 
 
 

2 

 9 (5, 1) PM  PN x-  y-

M  N  

Plot the point (5, 1) and from it draw PM and PN perpendicular to x-axis and y-axis 

respectively.  Write the co-ordinates of M and N. 

 

2 

 10  35 cm, 54 cm  61 cm  

Find the area of the triangle with sides 35 cm, 54 cm and 61 cm. 
 

2 

   / SECTION – C   

 

 

  11 20  3  

Question numbers 11 to 20 carry 3 marks each. 
 

 

 11 3 4 4 3 , 6,   3 
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Write 3 4 4 3 , 6, in ascending order. 

 

 12 
5 4 34 3 2 2     x x x x

Simplify : 
5 4 34 3 2 2     x x x x

 
 

 

 

3 

 13  x3
x2

4x4  (x2)  

If (x2) is a factor of x3
x2

4x4, find its other factors. 
 

3 

 14 
 

2 2
1 5

2
3 3

x x
   
   
     

Factorise : 
2 2

1 5
2

3 3
x x

   
   
   

 

 

3 

 15 ABC D E BDCE, ADAE 

 ADE  AED ABE ACD.  

 
In figure D and E are points on base BC  of ABC such that BDCE, ADAE and  ADE 

 AED prove that ABE ACD 
 

3 

 16 AB l l P 

P,  A  B  

AB is a line segment and line l is its perpendicular bisector.  If a point P lies on l, show that P 
is equidistant from A and B. 
 
 

3 

 17  ABCD x  3 
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In Figure, ABCD, then find x. 
 
 
 

 18 
ABC BCA O BOC90

1

2

A. 

 
In the given figure the bisectors of ABC and BCA intersect each other at O.  Prove that 

BOC90
1

2
A 

 
 

3 

 19 25 cm 10 cm  14 

cm  13 cm  

Find the area of the trapezium in which parallel sides are 25 cm and 10 cm and non-parallel 

sides are 14 cm and 13 cm. 

 

 

3 

 20 450 m 13 : 12 : 5 

 

Perimeter of a triangle is 450 m and its sides are in the ratio 13 : 12 : 5.  Find the area of the 

triangle and smallest altitude. 

 

3 
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   / SECTION – D 

 

 

  21 31   4 

Question numbers 21 to 31 carry 4 marks each. 
 

 

 21 1

7 3  

 
1

7 3
 

 

Varun was facing some difficulty in simplyfying 
1

7 3
.  His classmate Priya gave him a 

clue to rationalise the denominator for simplification.  Varun simplified the expression and 

thanked Priya for this goodwill.  How Varun simplified 
1

7 3
 ?  What value does it 

indicate ? 

 

4 

 22 
 x2 3   2

2

1
x

x
  

If x2 3 , find the value of 2

2

1
x

x
. 

 

4 

 23  ax
4
bx

3
cx

2
dxe     (x

2
1) 

ace  bd0  

If (x
2
1) is a factor of ax

4
bx

3
cx

2
dxe, show that ace  bd0 

 

4 

 24  (pq)
2
  20 (pq)125 ---- 1 

Factorise : (pq)
2
  20 (pq)125  

 

4 

 25 x3
8x2

17x10 4 
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Factorise : x3
8x2

17x10 
 

 26 xyz1, xyz1 xyyzzx1 x3y3z3 

If xyz1, xyz1 and xyyzzx1, find the value of x3y3z3. 

 

4 

 27 PQRS PR SQ O PQQRRSSP < 

2(PRQS)  
Diagonals PR and SQ of a quadrilateral PQRS meet at O.  Prove that PQQRRSSP < 
2(PRQS) 
 

4 

 28 ABAD,  12   34 APAQ  

 
In figure ABAD,  12 and  34.  Prove that APAQ. 
 
 

4 

 29 

 

If two parallel lines are intersected by a transversal, prove that the bisectors of two pairs of 
interior angles encloses a rectangle.  
 

4 

 30  lm 1(2xy); 4(x2y);  6(3y20) 7 8 

 

 

In figure if lm and 1(2xy); 4(x2y) and 6(3y20). Find  

4 

<7 and < 8< 7  and  < 8 . 
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7 and 8. 

 

 

 31  OAOD 12 OCB  

 
In figure OAOD and 12.  Prove that OCB is an isosceles triangle. 

 

4 

    

  ***** 
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